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= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
307 glz2tol & 201,600 201,600 0
02 RIZFE MM E X 201,600 201,600 0
OZJIttH HEXA 201,600
ANz 233018 X 500,000 500,000 0
308 XtXIEHHSOIA 500,000 500,000 0
01 IXNSHHBAMNEES 500,000 500,000 0
OANzZ2s8IIRXNE 500,000
SOAAE JNE KA 250,000 250,000 0
308 XX EHH SOl A 250,000 250,000 0
01 AXSGHBLELS 250,000 250,000 0
O8N 24Hl XA 250,000
NEUs K& 50,000 0 50,000
308 XXM SO0 A 50,000 0 50,000
01 HXNHHBMNEES 50,000 0 50,000
OUEZI HIFTAMSHSE 50,000
MBYSTE 4,747,839 4,665,496 82,343
| 2,066,207
< 2,681,632
MEHE XS 1,800 1,500 300
202 o4dl 1,800 1,500 300
01 = LH o4 1l 1,800 1,500 300
OdEN=E =20t 1,800
MExss 29 672,674 650,431 22,243
| 65,647
< 607,027
307 21201 A 672,674 650,431 22,243
| 65,647
< 607,027
03 QI HE2IHE xR 672,674 650,431 22,243
OMdEN=32LXNE 672,674
| 65,647
< 607,027
HE=s KA B X 938,520 938,520 0
| 898,656
< 39,864
307 gl2tol & 25,728 25,728 0
J| 12,144
< 13,584
02 It M AHE L 25,728 25,728 0
O et e = Xl & XHiH X 25,728
| 12,144
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< 13,584
308 XXM S0l A 912,792 912,792 0
| 886,512
< 26,280
01 IXNHHBNEES 912,792 912,792 0
OYBHMER S X SR X (Al 22) 912,792
J| 886,512
< 26,280
ozd dsgs N 771,848 771,848 0
| 702,652
< 69,196
307 21201 A 96,632 96,632 0
| 46,876
< 49,756
02 B AAHEX 96,632 96,632 0
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| 24,288
< 27,168
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308 XX EHH SOl A 675,216 675,216 0
| 655,776
< 19,440
01 X HHILEES 675,216 675,216 0
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| 655,776
< 19,440
SE=E d2H=s NEX X 92,191 100,572 A 8,381
308 XIS SO0 92,191 100,572 A 8,381
01 AXSHBLELS 92,191 100,572 A 8,381
OFHE=ZMEXNS KT XX 92,191
AEZE2N 0/EA N 484,806 441,125 43,681
| 399,252
< 85,554
308 XXM S0l 484,806 441,125 43,681
| 399,252
< 85,554
01 IXNSHHBNEES 484,806 441,125 43,681
OAZ=2H 0/8d X 484,806
J| 399,252
< 85,554
MEHE SESEHES S 60,000 60,000 0
307 21201 A 60,000 60,000 0
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R s R SE=an);
M A=HOl HSAE
Sl MEHSHE (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OM3sHEAZUHEAMOIet=LHE 30,000
308 XtXIEHHSOIA 30,000 0 30,000
01 AXHHIBLEES 30,000 0 30,000
O&F KIX& OtctEHS 30,000
25 MEdEA I& 140,000 140,000 0
307 glz2tol & 140,000 140,000 0
04 DIZHHALALSE E X 140,000 140,000 0
O2Z M=& ALK& (POOL) 140,000
ST Osl HzE 100,000 100,000 0
308 XX EHH SOl A 100,000 100,000 0
01 IXNHHBNEES 100,000 100,000 0
OFSJNEIRE=US 100,000
= MAXAEN 3 88,000 88,000 0
307 ¢l | & 40,000 40,000 0
04 QIZFHALAIH B = 40,000 40,000 0
OdIAATHEAHE 40,000
308 A EHHSOIA 48,000 48,000 0
01 HXNHHBHELS 48,000 48,000 0
OSESE XA AT A TS 48,000
HEOa X& 24,000 24,000 0
307 glz2tol & 24,000 24,000 0
04 QIZFHALAIH 2 = 24,000 24,000 0
OS=EZ XAt B S T3 9,000
OUWMEHIS2I &t 15,000
A XI& 60,000 40,000 20,000
308 MtXIEHSOIH 60,000 40,000 20,000
TAXNEHBIAEEXS 60,000 40,000 20,000
OMHHA S 60,000
MEHSSEE TVEH 12,000 10,000 2,000
307 glz2+ol & 12,000 10,000 2,000
04 DIZHHALAISE E X 12,000 10,000 2,000
OdEMssETVEA 12,000
21 55 SUS¢tna 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
Os=2zsdnsy 20,000
=703 X ¢ XA 46,000 46,000 0
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MSXED
HEXol HRAE
sEHSHE

SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
308 AXISHMSOIHA 46,000 46,000 0
01 X HMBAEEXZ 46,000 46,000 0
OWK(OX=E7)2ld |X 46,000
M= 20HUME K& 70,000 70,000 0
308 AKX SHHSOIA 70,000 70,000 0
01 AIXHMBANEXZ 70,000 70,000 0
Od=2R0C AN 70,000
OIEAIIUE X& 5,000 5,000 0
307 QI2t0| M 5,000 5,000 0
04 QIZHSHAFAIRE 2 X 5,000 5,000 0
OFSE ST AIAE USEIIHE 5,000
HioE 2= 23EH 10,000 20,000 A 10,000
308 AXISHXMSO0IH 10,000 20,000 A 10,000
01 AXHNBIMNEXTZ 10,000 20,000 A 10,000
O=HM 8 -5 d844d =235 1 10,000
HAAT XIS 20,000 20,000 0
308 X SHAMSOIA 20,000 20,000 0
01 AIXHMBANEXZ 20,000 20,000 0
OZ XA HAAT XY 20,000
S8 UEHE 140,000 100,000 40,000
307 QI2t0| M 100,000 100,000 0
04 DI2HSHALAIE 2 = 100,000 100,000 0
SE=3C HEE 100,000
308 AXISHXSOoIH 40,000 0 40,000
01 AIXHMBAEXZ 40,000 0 40,000
Os=3H Hd3sd 40,000
glais sX ¢ X 20,000 20,000 0
308 AXISHAMSOIA 20,000 20,000 0
01 AIXHMBAEXZ 20,000 20,000 0
ogata XI& 20,000
M= AU K 8,000 0 8,000
307 QI2t0| ™ 8,000 0 8,000
04 QI2SHALAIE E &= 8,000 0 8,000
OSHEZ XA =22A=AUS 8,000,000 8,000
SHCIN SRS 3,232,213 2,884,949 347,264
Dl 20,000
< 3,212,213
SOOI E NEAY 3,172,213 2,824,949 347,264




R s R SE=an);
Hu: Asmol HRHE
ool ROFQINSAE (SHol: @)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2+ol & 3,172,213 2,824,949 347,264
02 QAFHAANGFEX 2,452,780 2,146,726 306,054
OHMANM=EE A 1,637,200
OZBMHAUAAEZ=AALE2H 715,580
O+ S 100,000
03 QIZtHNHE2HHEX 629,433 588,223 41,210
OMEX2HI 629,433
04 QIZFHALAIH E = 90,000 90,000 0
OE X AtHH & = Z 0H ! Jl = TH 3 70,000
OFMHA=HAZ=WSE 20,000
O MEXNSHSE XA 60,000 60,000 0
J| 20,000
< 40,000
307 gl2tol & 60,000 60,000 0
J| 20,000
< 40,000
04 DIZHHALALSE E X 60,000 60,000 0
OZ 0§ QI M & Xl = H 3 60,000
J| 20,000
< 40,000
HEALE &= 21,040,680 26,211,600 25,170,920
Xl 9, 140,000
< 11,900,680
SSAZIMEH 22 173,680 188, 100 A 14,420
307 glz2t0l & 173,680 188, 100 A 14,420
02 It HAHEE 173,680 188, 100 A 14,420
OS=ESAZXMYH 22 173,680
HEHSSHE =4 3,385,000 8,718,000 25,333,000
Xl 1,470,000
< 1,915,000
403 XIS E X201 & 3,385,000 8,718,000 25,333,000
Xl 1,470,000
< 1,915,000
01 AXSHMA2E = 3,385,000 8,718,000 25,333,000
OSUHUENSSHES SMHa 3,185,000
Xl 1,470,000
< 1,715,000
OFF WHMEBUSBE X4 200,000
Loy MEXSALE =4 780,000 715,000 65,000
Xl 360,000
< 420,000
403 MHXISHHE X201 H 780,000 715,000 65,000
Xl 360,000




2A4: MEIEDL
Hu: Asmol HRHE
SR HSAE 25 (29l 8)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@i HRE2
[ 420,000
01 XIS A 2E X 780,000 715,000 65,000
ONHE Qehs MMSHOIESEHS 2 780,000
Xl 360,000
& 420,000
ANEH=SAE XS 15,152,000 12,482,500 2,669,500
N 6,960,000
= 8,192,000
403 XX SHHS K201 & 15,152,000 12,482,500 2,669,500
Xl 6,960,000
o= 8,192,000
01 XIS AS2E X 15,152,000 12,482,500 2,669,500
OXNYHMEANLERNI(EEXNR=RZ2L S 130
A) 14,902,000
Xl 6,960,000
== 7,942,000
Ot HI2HOIEE OFARE HH| 250,000
S MEHE AIEX& 350,000 2,590,000 N2,240,000
Xl 350,000
403 XX SHHS K20 & 350,000 2,590,000 N2,240,000
Xl 350,000
01 XIS AZ2E X 350,000 2,590,000 AN 2,240,000
O=sd SsHMEHSAE X 350,000
Xl 350,000
COIHAE A XAE 1,200,000 1,200,000 0
403 XX SRS K 20| & 1,200,000 1,200,000 0
01 MXSHHE2E =X 1,200,000 1,200,000 0
02016 O NMAIE X & 1,200,000
2ZHEA X 3,000 133,000 A 130,000
ZHBAIL=2HIIP2RA 3,000 33,000 A 30,000
202 044l 3,000 3,000 0
01 2L Y| 3,000 3,000 0
ONARNOIAHAMNE =X 2| 3,000
H=2HE I E 8,003,000 0 8,003,000
J| 4,000,000
= 4,003,000
H2ZAHEAILEES 8,003,000 0 8,003,000
Dl 4,000,000
= 4,003,000
202 o4 | 3,000 0 3,000
01 2Ll 3,000 0 3,000
OFZ M EAIE ZAH L Hal &2 o] 3,000
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Hu: AsHol RIS
&S d=2HAE OHA (9 ® =)
SA - BB B () - MM - BES Ol &t o San HmEET

403 MtXISHHE =01 & 8,000,000 0 8,000,000
J| 4,000,000
< 4,000,000
01 XS M A=2EE 8,000,000 0 8,000,000
OS2 HEXE 8,000,000
J| 4,000,000
< 4,000,000
HE2IAZH(MSEEDY) 57,186 46,767 10,419
Jl=3l 57,186 46,767 10,419
JlE2&l 57,186 46,767 10,419
201 L2l 15,966 14,637 1,329
01 At 22l 15,966 14,637 1,329
OJle+=EHl 6,516
OJle sl 9,450
202 oddl 34,020 32,130 1,890
01 = LH o4 1l 34,020 32,130 1,890
OJI20Hl 34,020
405 TtakF S| 7,200 0 7,200
01 AL EFH S 7,200 0 7,200
OTv 800
OArR 2 Xt (22l k) 2,500
OMREAI (R E) 3,900
Hees(MedED) 500,000 500,000 0
HEHHK = 500,000 500,000 0
LHEHeHXI & 500,000 500,000 0
702 J1S¥ES 500,000 500,000 0
(PIE=RSE—= 500,000 500,000 0
OMsdEIZIHE 500,000




